
Front Panel Fixings

Ì M6 20mm pozi-drive, pan head screws
Ì M6 captive nut for rack strip
Ì M6 cup washer with anti-rotation peg

248406

4 Per Pack Price Per Pack
Description Order Code
M6 Fixing Screws 426-1756
M6 Captive Nuts 426-1768
Fixing Washers 426-1770


